\*\*\*\*

#### O. R. AINSWORTH and J. NEGGERS

#### The University of Alabama, University, AL 35486 (Submitted March 1982)

In this paper, we discuss a family of polynomials  $A_n(z)$ , defined by the conditions

$$A_{p}(z) = 1$$
 and  $A_{k}(z) = z(z+1)A_{k-1}(z+2) - z^{2}A_{k-1}(z)$ .

Using these polynomials, we may express complex powers of the secant and cosine functions as infinite series. These polynomials provide ways to obtain numerous relations among Euler numbers and Bell numbers. They appear to be unrelated to other functions which arise in this context.

Suppose that we consider the family of polynomials  $A_n(z)$ , n = 0, 1, 2, ..., defined as follows:  $A_0(z) = 1$  and if  $A_0(z)$ , ...,  $A_{k-1}(z)$  have already been defined, then  $A_k(z)$  is given by the recursion formula:

$$A_{k}(z) = z(z+1)A_{k-1}(z+2) - z^{2}A_{k-1}(z).$$
<sup>(1)</sup>

It follows immediately that if  $A_{\ell}(z)$  is a polynomial of degree  $\ell$  for  $0 \leq \ell \leq k - 1$ , then  $A_{k}(z)$  has leading coefficient  $(2k - 1)a_{k-1}$ , where  $a_{k-1}$  is the leading coefficient of  $A_{k-1}(z)$ , and where  $(2k - 1)a_{k-1}$  is the coefficient of  $z_{\ell}$ . Thus, we generate a series of leading terms:

$$1, z, 3z^{2}, 15z^{3}, 105z^{4}, \ldots, [(2k - 1)!/2^{k-1}(k - 1)!]z^{k}, \ldots, (2)$$

so that  $A_k(z)$  is a polynomial of degree precisely k. It also follows immediately from (1) that  $A_k(0) = 0$  for all k > 1. We note further that if  $A_k^*(z) = A_k(-z)$ , then  $A_0^*(z) = A_0(-z) = 1$ , and from (1),  $A_k^*(z) = A_k(-z) = -z(-z + 1)A_{k-1}^*(z - 2) - z^2A_{k-1}^*(z)$  so that we have a corresponding family of polynomials  $A_n^*(z)$ ,  $n = 0, 1, 2, \ldots$ , given by the recursion formula:

$$A_{k}^{\star}(z) = z(z-1)A_{k-1}^{\star}(z-2) - z^{2}A_{k-1}^{\star}(z).$$
(3)

It follows immediately that for the sequence  $A_n^*(z)$  we have a corresponding sequence of leading terms:

[May

1, 
$$-z$$
,  $3z^2$ ,  $-15z^3$ ,  $105z^4$ , ...  $[(-1)^k(2k-1)!/2^{k-1}(k-1)!]z^k$ , ... (4)

It is our purpose in this note to prove that

$$\sec^{z} x = \sum_{n=0}^{\infty} \left[ A_{n}(z) / (2n) \right] x^{2n}$$
(5)

and

$$\cos^{z} x = \sum_{n=0}^{\infty} \left[ A_{n}^{*}(z) / (2n) \right] x^{2n},$$
(6)

as well as derive some consequences of these facts.

In particular, if z = 1, then we obtain the corresponding formulas,

sec 
$$x = \sum_{n=0}^{\infty} [A_n(1)/(2n)!] x^{2n}$$
 (7)

and

$$\cos x = \sum_{n=0}^{\infty} \left[ A_n^{\star}(1) / (2n) \right] x^{2n}, \qquad (8)$$

so that we obtain the results:  $A_n(1) = E_{2n}$ , the usual Euler number; and  $A_n^*(1) = A_n(-1) = (-1)^n$ , so that we are able to evaluate these polynomials at these values by use of the definitions.

Given that formulas (5) and (6) hold, we obtain from

$$\sec^{z_1} x \cdot \sec^{z_2} x = \sec^{z_1 + z_2} x$$

the relation

$$\left(\sum_{m=0}^{\infty} \left[A_{m}(z_{1})/(2m)!\right]x^{2m}\right)\left(\sum_{\ell=0}^{\infty} \left[A_{\ell}(z_{2})/(2\ell)!\right]x^{2\ell}\right)$$

$$=\sum_{k=0}^{\infty}\left(\sum_{m+\ell=k}A_{m}(z_{1})A_{\ell}(z_{2})/(2m)!(2\ell)!\right)x^{2k};$$
(9)

whence,

$$\sum_{m+\ell=k} A_m(z_1) A_{\ell}(z_2) / (2m)! (2\ell)! = A_k(z_1 + z_2) / (2k)!,$$
(10)

so that we obtain finally the addition formula:

$$A_{k}(z_{1} + z_{2}) = \sum_{j=0}^{k} \binom{2k}{2j} A_{j}(z_{1}) A_{k-j}(z_{2}).$$
(11)

From (11) we have the consequence

$$A_{k}(z - z) = \sum_{j=0}^{k} {\binom{2k}{2j}} A_{j}(z) A_{k-j}^{*}(z) = 0, \ k > 0;$$
(12)

1983]

whence, since  $\sec^{z} x \cdot \cos^{z} x = 1$ , it follow that for  $k \ge 1$ ,

$$\sum_{j=0}^{k} \binom{2k}{2j} A_{j}(z) A_{k-j}(z) = 0.$$
(13)

In particular, if z = 1, then we obtain the formula for  $k \ge 1$ , using  $A_{k-j}^{*}(-1) = (-1)^{k-j}$ ,

$$\sum_{j=0}^{k} (-1)^{k-j} \binom{2k}{2j} E_{2j} = 0.$$
 (14)

To generate sample polynomials, we use the original relations (1) and take consecutive values of k,

$$k = 1, A_{1}(z) = z(z + 1) - z^{2} = z$$

$$k = 2, A_{2}(z) = z(z + 1)(z + 2) - z^{3} = 3z^{2} + 2z$$

$$k = 3, A_{3}(z) = z(z + 1)[3(z + 2)^{2} + 2(z + 2) - z^{2}(3z^{2} + 2z)$$

$$= 15z^{3} + 30z^{2} + 16z, \text{ etc.},$$

with  $A_1(1) = E_2 = 1$ ,  $A_2(1) = E_4 = 5$ ,  $A_3(1) = E_6 = 61$ . From Equation (1) we find, taking z = 1, that

$$E_{2k} = 2A_{k-1}(3) - E_{2k-2}, E_0 = 1$$
 (15)

and

$$A_{k-1}(3) = 1/2[E_{2k} + E_{2k-2}], \ k \ge 1,$$
(16)

so that we have an immediate expansion for  $\sec^3 z$  in terms of the Euler numbers:

$$\sec^{3}x = \sum_{n=1}^{\infty} \left( \left[ E_{2n} + E_{2n-2} \right] / 2(2n-2)! \right) x^{2n-2}$$

$$= \sum_{n=0}^{\infty} \left[ E_{2n+2} + E_{2n} \right] / 2(2n)! x^{2n}.$$
(17)

By repeated use of (1) in this fashion, we may generate expressions for  $\sec^5 z$ ,  $\sec^7 z$ ,...,  $\sec^{2n+1} z$ , which are expressed in terms of the standard Euler numbers only.

To prove the formulas (5) and (6), we proceed as follows:

$$(\sec^{m}x)' = m \sec^{m}x \tan x,$$
  
 $(\sec^{m}x)'' = (m^{2} + m)\sec^{m+2}x - m^{2}\sec^{m}x,$ 

and thus, if we write (formally)

134

[May

$$\sec^{m} x = \sum_{n=0} [A_{n}(m)/(2n)!]x^{2n}$$

 $(m^{2} + m)\sec^{m+2}x - m^{2}\sec^{m}x = \sum_{n=0}^{\infty} \left[ \left( (m^{2} + m)A_{n}(m+2) - m^{2}A_{n}(m) \right) / (2n)! \right] x^{2n}$ 

$$= \sum_{n=0}^{\infty} \left[ A_{n+1}(m) / (2n) ! \right] x^{2n}, \qquad (18)$$

so that upon equating coefficients, we find:

$$A_{n+1}(m) = m(m+1)A_n(m+2) - m^2 A_n(m).$$
<sup>(19)</sup>

From (19), it is immediate that  $A_k(m)$  is a polynomial in the variable m, where we consider m a real number m > 1, and such that  $\sec^m x$  has the appropriate expression.

If we fix x so that  $\sec^2 x > 1$ , then  $f(z) = \sec x$  yields

$$f'(z) = f(z) \cdot \log(\sec x),$$

and thus f(z) is an analytic function of z which agrees with the series given in (5) for the real variable m > 1. Since g(z) given by the series in z is also analytic and since f(m) = g(m) for the real variable m > 1, it follows that f(z) = g(z), or what amounts to the same thing, equation (5) holds for all z. Equation (6) is now a consequence of equation (5) if we replace z by -z.

Making use of what we have derived above, we may also analyze other functions in this way, as the examples below indicate.

Suppose we write

$$\tan x = \sum_{n=0}^{\infty} (T_n/n!) x^n, \text{ where } T_{2n} = 0 \text{ and}$$

$$T_{2n-1} = \frac{(-1)^{n-1} 2^{2n} (2^{n-1} - 1) B_{2n}}{(2n)!}.$$
(20)

Then from  $\frac{d}{dx}(\sec x) = z \sec^2 x \tan^2 x$  we obtain the relation

$$\mathbb{E}\left[\sum_{n=0}^{\infty}\left\{\frac{A_n(z)/z}{(2n-1)!}\right\}x^{2n-1}\right] = \mathbb{E}\left[\sum_{m=0}^{\infty}\frac{A_m(z)}{(2m)!}x^{2m}\right]\left[\sum_{\ell=0}^{\infty}T_{\ell}/\ell!x^{2\ell}\right],\qquad(21)$$

whence it follows that:

1983]

$$\frac{A_n(z)/z}{(2n-1)!} = \sum_{2m+\ell=2n-1} \frac{A_m(z)T_\ell}{(2m)!\ell!}$$
(22)

or

$$A_{n}(z)/z = \sum_{2m+l=2n-1} {\binom{2n-1}{l}} A_{m}(z)T_{l}.$$
 (23)

In particular, we conclude that if  $\ell$  is even, then  $T_\ell$  = 0, which is of course known, and the corresponding expression is

$$A_{n}(z) = \sum_{m=0}^{n-1} {\binom{2n-1}{2m}} T_{(2(n-m)-1)} z A_{m}(z).$$
 (24)

Hence we may derive a variety of formulas. For example, by taking z = 1, (24) yields

$$E_{2n} = \sum_{m=0}^{n-1} {\binom{2n-1}{2m}} T_{2(n-m)-1} E_{2m}; \qquad (25)$$

or, since the coefficients  $\mathcal{T}_{\boldsymbol{k}}$  are vastly more complicated:

$$T_{2n-1} = E_{2m} - \sum_{m=1}^{n-1} {\binom{2n-1}{2m}} T_{2(n-m)-1} E_{2m}, \qquad (26)$$

which yields a recursion formula involving the Euler numbers.

Similarly, from z = -1,  $A_n(-1) = (-1)^n$ , we obtain

$$(-1)^{n} = \sum_{m=0}^{n-1} (-1)^{m+1} {2n-1 \choose 2m} \mathcal{T}_{2(n-m)-1}, \qquad (27)$$

or, once again, for m = 0,

$$T_{2n-1} = \sum_{m=1}^{n-1} (-1)^{m+1} {\binom{2n-1}{2m}} T_{2(n-m)-1} + (-1)^{n+1}.$$
(28)

Using the fact that  $1 + \tan^2 x = \sec^2 x$ , we obtain the relation

$$\sum_{m=0}^{\infty} \frac{T_{2m+1}}{(2m+1)!} x^{2m+1} \left[ \sum_{\ell=0}^{\infty} \frac{T_{2\ell+1}}{(2\ell+1)!} x^{2\ell+1} \right]$$

$$= \sum_{k=1}^{\infty} \left( \sum_{\ell+m=k-1}^{\infty} \frac{T_{2m+1}}{(2m+1)!} \frac{T_{2\ell+1}}{(2\ell+1)!} \right) x^{2k};$$
(29)

so that

$$\sum_{\substack{\ell+m=k-1}} \frac{T_{2m+1}}{(2m+1)!} \frac{T_{2\ell+1}}{(2\ell+1)!} = \frac{A_k(2)}{(2\ell)!}$$
(30)

and

136

[May

$$A_{k}(2) = \sum_{m=0}^{k-1} {2k \choose 2m+1} T_{2m+1} T_{2(k-m)-1}.$$
 (31)

If we use the fact that  $(\tan x)' = \sec^2 x$ , then

$$\sum_{m=0}^{\infty} \frac{T_{2m+1}}{(2m)!} x^{2m} = \sum_{m=0}^{\infty} \frac{A_m(2)}{(2m)!} x^{2m}, \qquad (32)$$

so that immediately:

$$A_m(2) = T_{2m+1}.$$
 (33)

Hence, by using (31), we have the relation:

$$T_{2k+1} = \sum_{m=0}^{k-1} {2k \choose 2m+1} T_{2m+1} \cdot T_{2(k-m)-1}.$$
 (34)

Having these relations at hand, we use the fact that

 $\tan x \cdot \cos x = \sin x$ 

to obtain

$$\sin x = \left[\sum_{m=0}^{\infty} \left(A_m(2) / (2m+1)!\right) x^{2m+1} \right] \left[\sum_{k=0}^{\infty} A_k(-1) / (2k)! x^{2k} \right]$$

$$= \sum_{k=0}^{\infty} \left[\sum_{k+m=k} \frac{A_m(2) \cdot A_k(-1)}{(2m+1)!(2k)!} \right] x^{2k+1}$$
(35)

so that

$$\sum_{\ell=m=k}^{\infty} \frac{A_m(2) \cdot A_{\ell}(-1)}{(2m+1)!(2\ell)!} = \frac{(-1)^k}{(2\ell+1)!}.$$
(36)

Hence:

$$\sum_{m=0}^{\infty} \binom{2k+1}{2m+1} A_m(2) A_{k-m}(-1) = (-1)^k.$$
(37)

Using the fact that  $A_{\ell}(-1) = (-1)^{\ell}$ , it follows that:

$$\sum_{n=0}^{k} (-1)^{2k-m} {2k+1 \choose 2m+1} A_m(2) = 1.$$
(38)

From these examples, it should be clear that the polynomials  $A_n(z)$ , n = 0, 1, 2, ... are a family closely related to the trigonometric functions and, hence, they should prove interesting. The sampling of such properties given here seems to indicate that this is indeed the case.

**198**3]

### REFERENCES

- 1. M. Abramowitz & I. Stegum (eds.). *Handbook of Mathematical Functions*. Washington, D.C.: National Bureau of Standards, 1955.
- 2. E. D. Rainville. Special Functions. New York: Chelsea Publishing Company, 1971.
- 3. E. Netto. Lehrbuch der Kombinatorik. New York: Chelsea Publishing Company, 1927 (reprint).

\*\*\*\*

.

[May